JAYPEE UNIVERSITY OF INFORMATION TECHNOLOGY, WAKNAGHAT
T3 EXAMINATION- December 2_018
B.Tech V Semester

COURSE CODE: Software Engineering MAX. MARKS: 35

COURSE NAME: 10B11CI512
COURSE CREDITS: 4

Note: All questions are compulsory.

[u—y

[3 + 3 Marks] (CO 1) 5
Consider a software project with 5 tasks T1- T5. Duratmn of the 5 tasks (m"'d"'ay ; .aregls 10, 12, 25 and
10, respectwely T2 and T4 can start when T1 is complete. T3 can start wheng 2’@5 complete T5 can start
when both T3 and T4 are complete. Draw the activity graph and ﬁ%gi“ﬁ;e latest Ytart date of the task T3?
You have been appointed a project manager for a small softw egpéeﬁygc%company Your job is to build a
breakthrough product that combines virtual reality hardware, Wl;th stajg‘e “of-the-art software. Because
competition for the home entertainment market is mtense%er&g\@;ﬁs ighificant pressure to get the job done.
What team structure would you choose and why? % ‘%@J "o

[ 3+ 3 Marks] (CO 2) 3

Discuss some of the problems that occur whe %qvt,%}'ezpents must be elicited from three or four different
customers. B, Y

Discuss the advantages and disadvantag yprogramming,
[ 3 + 3 Marks] (CO 3) 57
Suppose you are asked to demgn*thexu i “Thterface of a large software product. Would you choose a menu-

based, a direct manipulatign, a comména language or a mixture of all these types of interfaces to develop
the interface for you:r prod u‘;;‘ 2 Justify your choice.

Apply “stepwise refinément’ approach” to develop two levels of procedural abstractions for a simple task
scheduling algont}gm @g\a‘ﬁ opera,tmg system.

[3+3 Marks]ﬁ(GQ 42;,, ‘

You work *f%a veny #Small organization-only 11 people are involved in developing software. Is software
proces@&lmprovément for you? Explain your answer.

Thex g a@éubtle difference between restructuring and forward engineering. What is it?

Tl zgnaxks 1(CO 4)

Descnbe the difference between process and project metrics.

List the relative advantages of using either the Lines of Code (LOC) or the function point metric to
measure the size of a software product for software project planning?



6.

[ 2+ 3 Marks] (CO 4)
a. A software team delivers a software increment to the end users. The users uncover eight defects during the
first month of use. Prior to delivery, the software team found 242 errors during formal technical reviews
and all testing tasks. What is the overall DRE of the project after one month’s usage?

Assume all complexity adjustment values are average.

Compute the function point value for a project with the following information domain characteristics:
Number of user inputs: 32
Number of user outputs: 60
Number of user inquiries: 24
Nummber of files: §

Number of external interfaces: 2
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